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American individualism and Chinese collectivism are poles apart. For thousands
of years, millions of Chinese have coped with limited land and resources. Economic
and social imperatives, coupled with Confucian', Buddhist® and Taoist’ ethics?, have
constrained Chinese to subordinate individual goals to societal needs. Centuries of
collective culture made some form of Chinese Socialism historically inevitable.

By contrast, it is obvious why Americans are the most individualist people on
earth. Mere centuries ago, Europeans settled a vast, relatively unpopulated continent,
where they enjoyed unprecedented’ freedom and opportunity as their government mo-
bilized them to settle the frontier. Though America’s frontiers have vanished, the
frontier mentality of individualism remains the emotional and philosophical corer-
stone® of American culture, ‘

Individualism and collectivism permeate every aspect of eastern and western
culture, influencing American and Chinese economics, politics, morals and values,
and especially communication patterns. This is important, for research has proved
that the number one cause of failure in international business and relations is not
economics or even business but cross—culture, which is often the culprit’ behind the
miscommunication.

When Americans eat out, they often calculate each person’s share of the bill
down to the last penny. By contrast, in China one person is likely to pick up the
entire bill. This doesn’t necessarily mean that Chinese are more generous. Chinese
stress mutually beneficial relationships and know that the next time someone else
will pay: “What goes around comes around.”

An American proverb,  “there’s no free lunch” means that nothing is free.
Somewhere along the line a price must be paid. Americans prefer to know the
price right away and pay it. :

Americans may get frustrated when a Chinese worker refuses pay for a job, in-
sisting “we're old friends.” Then, because the worker refuses money he considers
that he’s doing his American friend a favor, not a job. Then he takes weeks or
months to complete the task, and does it according to his own tastes, not his for-
eign friend’s. The foreigner must then repay the “favor” with something that is ul-
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timately more costly than it would have been to have paid a professional who have
done the job quickly and efficiently in the first place.

As an individualist American, [ appreciate the speed and efficiency of the
money economy versus the GuanXi(3£ %) economy! But I have money. If I were a
penniless peasant maybe | would praise the virtues of GuanXi, the economic equal-
izer. Perhaps a balance is best, (404ws)

. According to the author, the cause of the misunderstanding between people from
different countries lies in
A. economic and business contradictions
B. political and ideological differences
C. cultural and communicational distinctions
D. emotional and social imperatives

[ 2]

Which of the following sentences ix NOT true according to the passage?

A. Chinese collectivism has a longer history than American individualism.

B. Chinese collectivism can be attributed to multi—factors.

C. Both collectivism and individualism spread into every part of Chinese and American
culture respectively.

D. American individualism provides freedom and opportunity for people and is better
than Chinese collectivism.

3. The fourth paragraph is written to
A. show that American people are much wiser than Chinese when they pay for bill
B. illustrate that Chinese people attach much importance to collectivism and mu-

tual benefits

C. prove that the proverb “there is no free lunch” is absolutely true for Chinese too
D. display that the American people value both collectivism and individualism

4. Which of the following is closest in meaning to the word “culprit” (Line 5, Para. 3)?
A. main reason  B. actual result C. cultural effect D. cultural request

5. Which of the following statements about the Chinese worker's thought about the

favor he does for the American is NOT true?

A. It is only a favor, not a job.

B. It will take him a long time to finish it.

C. Tt will be repaid someday.

D. He doesn’t need to satisfy the American’s taste.

¢ #-R=

6. What's the best title of this passage?
A. Chinese Collectivism and American Individualism
B. Eastern and Western Cultural Differences
C. American Money Economy and Chinese GuanXi Economy
D. Generous Chinese and Economical American




7. What does the first sentence in the first paragraph mean?

A. American individualism and Chinese collectivism are rather different from
each other.

B. There is a long way to go for American individualism to mix with Chinese
collectivism.

C. American individualism is quite different from Chinese collectivism with re-
spect to their origin. _

D. American individualism and Chinese collectivism are still widely separated
geographically.

(
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There are several types of account that you can have with a bank. One of the

most popular is a current account. You can start this sort of account whenever you
like and with only a few hundred dollars. All you have to do is to walk into any
bank and ask to open an account. You will probably be expected to give the
names of two people who will guarantee your honesty, and you will be asked for
specimens of your signature.

People put money into banks partly for safety, partly because they can then
have a checkbook and use this for paying bills instead of carrying a lot of cash
around.

If you open an ordinary current account at a bank, you will be given two
books: a paying—in book and a checkbook. A paying—in book is used when you put
money into your account. You write in it the amount of every check you have
received (for instance, your pay check), cash or postal' order, add them all up and
hand them over to the clerk. He will stamp the counterfoil’ in your book and this
is proof that the bank has received your money.

A checkbook is used when you want the bank to pay out some of this money
—either to you, when you need some cash, or to other people, for example, when
you want to pay for goods you have bought.

A check is simply an instruction to pay a specified sum of money to a
specified person. You could, in fact, write this out on any piece of paper and it
would be valid, but checks are a convenient way of doing this. . There is space in
the checkbook for you to keep a record of what you have paid out. This is useful
as it enables you to work out, for example, how much money you have spent in
the last month.

Most checks are “crossed” (they have two lines printed down the middle) which
means that the bank will not pay out cash for them across the bank counter—they
must be paid into someone’s account. This is a good idea because it makes it
harder for anybody to steal a check, cash it straightaway and make off untraced.

In the course of a month you may have paid money into your account several
times and perhaps written a number of checks, too. To let you know how much
money you have in your account the bank regularly posts statements to you. These
statements list every transaction you have made, and at the right hand side, show
how much money you were left with after each one (the balance). You can look at
your checkbook and paying—in book counterfoils to see whether the bank has made
any mistakes.

Bank statements are useful as they act as regular reminders to keep an eye on
how much you are spending. (491ws)
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current account is one of the most popular because

it is very convenient for anyone to use it

A
A
B. one can open it with a few dollars
C. it is liked by most people
D. one will be expected to give his real name
2. With a current account one can pay for things
A. with cash B. with checks
C. by installments D. with a paying—in slip
3. Statements of accounts .
A. prevent your money from being cashed by people you don’t know
B. are written on the counterfoil of the paying—in book
C. let you know how you’ve been spending your money
D. are your checks that have been cashed at the bank
4. The word “counterfoil” in the last sentence of Para. 3 means .
A. a check B. the back of the paying-in slip
C. the other part of the paying-in slip D. a separate paying—in slip
5. The phrase “make off” in the last sentence of Para. 6 means .
A. get away B. get off C. make a fortune  D. make a living

e

. -
A crossed check
A. can be cashed in a bank by anyone
B. can be cashed in a post office
C. must be paid into someone’s account
D. must be cashed by the person signing the check
7. Crossed checks
A. are safer than uncrossed checks
B. are not as safe as uncrossed checks
C. can be cashed straightaway
D. are checks without any value

(=) wiCHE
1. postal a. HREHY, HRJRH 2. counterfoil n. X RFEWR, ER, HiB
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Many people helieve that heavers! are intelligent animals. After all their dams
are fine examples of engineering. The engineering feats of beavers are well known,
but it will be useful to recall their main features.

A pair of beavers will construct a dam across a river. The water held back by
the dam overflows the bank on either side of the river, flooding the adjacent?
ground and forming a pond. At some point in the pond the beavers then build
their home, which is called a lodge® This consists of a conical ( [& 4 {4 # Ypole of
branches and sticks of two to six feet in length held together with mud and stones,
the top of which projects* above the waterline® It serves as a shelter from the
elements, a refuge from enemies and a base for food supplies to be drawn upon in
winter.

From an engineering point of view the lodge could hardly be improved. Not
only does it contain a central chamber just above water level, but it also has one
or more escape tunnels, well-insulated (FR#A1R % Y )walls and a vertical chimney,
which regulates the temperature inside and gives air—conditioning. It is altogether® a
cunning piece of construction, with all modern conveniences. It is, in fact, better
protected against the effects of flooding than many human. habitations.

Trees are essential to beavers. They eat the bark on the upper branches, and
in order to reach these they must fell the trees. Tree—felling is a skilled job, as
anyone who has felled even a sapling (/PD# )knows. But beavers fell more than
saplings. A pair is said to be able to fell a tree four inches in diameter in 15
minutes.  They often build plaforms of mud and earth to enable them to cut
through the tree where the trunk is narrower.

The engineering skill of beavers is to a large extent a result of their ability to
use their front paws as hands. A female will carry her young held under her chin
with her front paws, walking on her hind legs. A similar method is used by all
beavers when transporting stones or mud, although they also carry such materials on
their broad flat tails. The forepaws are also used for burrowing’ and for dragging



| o

iz 20 55 el " o

heavier logs.

It is easy, therefore, to see why people should talk about the beaver’s skill,
cleverness and intelligence. However, the structure of the beaver’s brain gives no
indication that the animal is any more intelligent than other rodents (Wi 347 ).
Many of its actions, which appear to be the result of a higher order of reasoning,
can be shown to be due to instinct and are suspected of being the outcome of an
inborn pattern of hehavior. (469ws)

1. In the passage, the auathor intends to
A. convince readers that beavers are intelligent animals
B. examine how beavers build their dams
C. explain the main features of beavers
D. explain why beavers are intelligent
2. What is TRUE about the beavers’dam?
A. Beavers build their lodges in it.
B. Tt is a fine example of animal intelligence.
C. It forms a pond where beavers build their home.
D. A beaver builds it single—handed.
3. In Para. 3 the author depicts the beaver’s lodge at length in order to suggest that

A. it is equipped with all modern conveniences
B. it can better protect beavers against the elements
C. beavers’ cunning construction skills can compare with man’s
D. there is little room for improvement in its construction
4. Beavers fell the trees because
A they want to eat the bark on the upper branches
B. they need branches and sticks to build their lodges
C. they have to sharpen their teeth by gnawing around the trunk
D. they need the saplings to build their dams
5. The author owes the beavers’ intelligent behaviors to
A. their ability to use their front paws as hands
B. an instinct or an inborn pattern of behavior
C. the unique structure of the beaver’s brain
D. a higher order of reasoning

CHRE
e e e e l.i 7y
6. A( ('ordmg to the author, beavers are expert in engineering because

. they are inbom engineers in the animal world

they acquire the various skills in building their lodges
they are able to use their front paws as hands

- they have to use their front paws to camy things

o_npc>
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7. The fifth paragraph is mainly about
A. what makes the beavers into experts in engineering
B. what the uses of the beavers’front paws are
C. why the beavers are so intelligent
D. how the beavers build their lodges

(—)iiCHE®
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Global warming could disrupt' the ability of a large portion of the world’s
oceans to absorb carbon dioxide from the atmosphere, setting off a vicious cycle in
which the earth gets even hotter, researchers said.

Evidence from a new study indicates that some conditions scientists think will
occur with global warming may promote the growth of algae? in the Southern Ocean
that do not absorb carbon dioxide as well as others.

These waters around Antarctica make up 10 percent of the world’s oceans and
play a significant role in soaking up' carbon dioxide, a greenhouse gas seen as one
of the main causes of global warming, Kevin Arrigo, a biologist at NASA—-Goddard
Space Flight Center in Maryland, who led the study, said.

“The capacity for the Southern Ocean to take up carbon dioxide might be
reduced,” Arrigo said in a telephone review. Since carbon dioxide contributes to
global warming, scientists believe a growing build~up of the gas would make the
environmental problem increasingly worse. Plants “breathe”carbon dioxide and help
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control the balance of the gas in the atmosphere. About half the plants that use
this gas are in the oceans, Arrigo said. But the earth’s rising temperatures create
an environment where some phytoplankton (JF#f4 %), called diatoms’, begin to
dominate over single—celled algae called Phaeocystis antarctica’, which are better at
absorbing carbon dioxide. “Given the same amount of nutrients,  Phaeocystiis
antarctica takes up almost two times as much carbon dioxide,” Armrigo said.

Writing in the journal Science, the researchers said increasing s -atification® of
the Southern Ocean, or differences in water density at different depths, was the
change causing diatoms to dominate the environment. Normally there is very little
stratification in the Southern Ocean because frequent strong winds keep the waters
well mixed, Arrigo said. But the increased precipitation (€ JZ fif )that scientists
predict will happen with global warming means more diluted” water is sitting on the
top, making the waters more difficult to mix. This causes the death of the more
efficient carbon—eating phytoplankton.  “If global warming continues with increased
precipitation in the Southern Ocean, there will be more stratification and that will
favor diatoms,” Arrigo said.

The study, which took place during a month —long expedition during the
Antarctic summer, was also one of the first to show that some types of algae absorb
carbon dioxide better than others. Arrigo said knowing how much atmospheric
carbon dioxide the oceans use is important for scientists when trying to predict
climate change. “We need to understand the capacity of the world’s oceans to take

up all this carbon dioxide,” he said.  “At some point the ocean might reach its
limit and shut off.” (440ws)
1. The scientist, Kevin Arrigo, studies
A. the ocean
B. the ocean’s ability to absorb CO2
C. the carbon dioxide in the atmosphere
D. the vicious cycle of global warming
2. How could the global warming disrupt the ocean's capacity to take up CO2?
A. It may promote the growth of algae which do not absorb CO2.
B. It may reduce the waters around Antarctica which absorb much CO2.
C. It may lead to the growing build-up of the greenhouse gas.
D. It may cause the death of all algae in the oceans.
3. Which of the following does NOT take up C02?
A. Algae.  B. Diatoms. C. Phytoplankton. D. Phaeocystis antarctica.
4. Which of the following statements is TRUE about Diatoms?
A. They are phytoplankton.
B. They are single—celled algae.
C. They take up twice the carbon dioxide.
D. They help with the balance of the atmospheric gas.
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5. According to Para. 4, which is NOT the finding of the study led by Arrigo?

A. Some algae may grow rapidly as the result of global warming.

B. The capacity for the Southern Ocean to absorb CO2 was reduced.

C. Half the plants that absorb CO2 are in the oceans.

D. %me dlgae absorb CO2 better than others.

- ¢
C_¥RE
6. mmndmt(lv Iedds to diatoms "domination over Phaeocystis antarctic in

the Southern Oeean.
A. The increasing stratification ~ B. The increased precipitation
C. The strong wind D. The global warming
7. How does the global warming lead to the growth of diatoms in the Southern Ocean?
A. Tt keeps the waters well mixed, which favors diatoms.
B. It increases precipitation and stratification which favor diatoms.
C. It kills the rivals of diatoms—carbon—eating phytoplankton.
D. Warm waters promote the growth of diatoms.

(=) iCiEsF
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